
SAP ABAP table PKMIT {Input Data: Correspondence}

PKMIT

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

KMIT [CHAR (8)]

TYP_ISTAT [CHAR (1)]

KRS1_ISTAT [CHAR (1)]

KRS1_LANGU [LANG (1)]

KRS2_ISTAT [CHAR (1)]

TEILNTYP [CHAR (2)]

ORGA_TYP [CHAR (2)]

VOLNG [LANG (1)]

T000

MANDT [CLNT (3)]

 PKMIT-MANDT = T000-MANDT 
0..N

0..N

T002

SPRAS [LANG (1)]

 PKMIT-KRS1_LANGU = T002-SPRAS 

0..N

1

 PKMIT-VOLNG = T002-SPRAS 0..N

1

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

 PKMIT-ORGA_TYP = T778O-OTYPE 
0..N

0..N  PKMIT-TEILNTYP = T778O-OTYPE 0..N

0..N T778P

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

 PKMIT-PLVAR = T778P-PLVAR 

0..N
0..N

T778S

MANDT [CLNT (3)]

ISTAT [CHAR (1)]

 PKMIT-KRS1_ISTAT = T778S-ISTAT 

0..N

0..N

 PKMIT-KRS2_ISTAT = T778S-ISTAT 

0..N

0..N

 PKMIT-TYP_ISTAT = T778S-ISTAT 0..N

0..N

T77VE

MANDT [CLNT (3)]

KMITT [CHAR (8)]

 PKMIT-KMIT = T77VE-KMITT 

0..N

0..N


